Homework 1                              PHYS 211                           Dr. Amir
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7.
To add values with significant figures, adjust all values to be added so that their exponents are all the same.

([image: image8.png]9.3 X 10%s) + (8.3 X 10*s) + (0.008 X 10°s)



= 9.3× 103s+83×103 s+8×103s =1.0×105s

When adding, keep the least accurate value, and so keep to the “ones” place in the last set of parentheses.
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13.
Assuming a height of 5 feet 10 inches, then
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 Assuming a weight of 165 lbs, then 
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 Technically, pounds and mass measure two separate properties.  To make this conversion, we have to assume that we are at a location where the acceleration due to gravity is 9.80 m/s2.  
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, and so the conversion factor is 
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, and so the conversion factor is 
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, and so the conversion factor is 
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23.
The surface area of a sphere is found by 
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